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=) UPCOMING ONLINE BATCHES

02 NOV 2022

08:00 AM to 10:00 AM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

02 NOV 2022

06:30 PM to 08:30 PM

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

November 2022

09 NOV 2022 16 NOV 2022 23 NOV 2022

07:30 PM to 09:30 PM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM

SSC ONLINE LIVE CLASS

03:00 PM to 05:00 PM

SSC ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL BILINGUAL

23 NOV 2022

04:00 PM to 06:00 PM

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

30 NOV 2022

10:30 AM to 12:30 PM

BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL
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TARGET MATHS- 25/25

Ques-1:- A pipe can empty a tank 1n 30 minutes. A second pipe can empty it in 45
minutes. If both the pipes operate simultaneously, how much time 1s needed to empty
the tank?

Teh 4159 30 T W Ueh o <Rl Tt o kel 8] Teh GO 15T 6 45 T2 o @reft it
HohdT 2| S SHT 15T Ueh 9T hTH Td &, df ok ohl WTetl i oh TTT Toha T @9 ITiee?
(A) 30 minutes

(B) 18 minutes

(C) 14 minutes

(D) 15 minutes




TARGET MATHS- 25/25

Ques-1:- A pipe can empty a tank 1in 30 minutes. A second pipe can empty it in 45
minutes. If both the pipes operate simultaneously, how much time 1s needed to empty
the tank?

Teh 9159 30 T W Ueh doh <Rl Tt o Tehell 81 Ueh GO IT5Y 581 45 T 0 Eredt e
HohdT 2 1< ST ITST Ueh U1 hTH hid &, Al ook ohl WIcT i oh T4 fohd<T GHY ATREU?
(A) 30 minutes

(C) 14 minutes
(D) 15 minutes



TARGET MATHS- 25/25

Ques-2:- A car can cover 600 km 1n 16 hours. If the speed 1s increased by 20 kmph,
then the time taken by the car to cover 920 km 1s

Teh ST 16 ©S H 600 fepet sht gt o1 ot wehel 81 Ffe et 20 Toreft it sier g SIreft €, 4
I GRT 920 TohrT AT G T LA | T 1t & &

(A) 18 hours

(B) 16 hours

(C) 15 hours

(D) 19 hours




TARGET MATHS- 25/25

Ques-2:- A car can cover 600 km 1n 16 hours. If the speed 1s increased by 25 kmph,
then the time taken by the car to cover 920 km 1s

Teh ST 16 HS H 600 Tepeft sht gt o1 ot wehel! 81 Fle et 25 Toreft it sier g Sreft €, 4
I GRT 920 TohrT AT G T LA | T 1t & &

(A) 18 hours

(C) 15 hours
(D) 19 hours



TARGET MATHS- 25/25

Ques-3:- The hypotenuse of a right angled triangle 1s 39 cm and the difference of
other two sides 1s 21 cm. Then, the area of the triangle 1s

e SHERIVT FIST 3T R0l 39 THT I 31 a1 $[STTaTl oh1 ST 21 Gt 7 | O, Bgst
SELTOIS

(A) 270 sq. cm.

(B) 450 sq. cm.

(C) 540 sq. cm.

(D) 180 sq. cm.




TARGET MATHS- 25/25

Ques-3:- The hypotenuse of a right angled triangle 1s 39 cm and the difference of
other two sides 1s 21 cm. Then, the area of the triangle 1s

e SHERIVT FIST 3T R0l 39 THT I 31 a1 $[STTaTl oh1 ST 21 Gt 7 | O, Bgst
SECTOR

(B) 450 sq. cm.
(C) 540 sq. cm.
(D) 180 sq. cm.



TARGET MATHS- 25/25

Ques-4:- Ram saves 20% of his salary but due to increase in price of commodities
his expenses increase by 20%.Still he saves Rs 20.Find his salary?

TH ST S 3BT 20% STerd 3L AT & TAich TEq3T oh Heal H 1, o 0T SHehT @il 20%
S SITdT 3| 319 98 20 &, S=TdT 8| SThT Jd- JTd shifole?

(A) Rs. /&. 500

(B) Rs. /&. 750

(C) Rs. /&. 980

(D) Rs. /&. 1080




TARGET MATHS- 25/25

Ques-4:- Ram saves 20% of his salary but due to increase in price of commodities
his expenses increase by 20%.Still he saves Rs 20.Find his salary?

TH ST S 3BT 20% STerd 3L AT & TAich TEq3T oh Heal H 1, o 0T SHehT @il 20%
S SITdT 3| 319 98 20 &, S=TdT 8| SThT Jd- JTd shifole?

(B) Rs. /&. 750
(C) Rs. /&. 980
(D) Rs. /&. 1080



TARGET MATHS- 25/25

Ques-5:-If 18 men earn Rs.1440 1n 5 days, how many men can earn Rs.1920 1n 8

days?
Ife 18 3ATeHt 5 feat | 1440 &. 31Sd A 8, a1 1920 %. § o1 # fordw aA1eHt 31fsia

FHAT?

(A) 10
(B) 12
ORE
(D) 18



TARGET MATHS- 25/25

Ques-5:-If 18 men earn Rs.1440 1n 5 days, how many men can earn Rs.1920 1n 8

days?

Ife 18 3ATeHt 5 feat | 1440 &. 31Sd A 8, a1 1920 %. § o1 # fordw aA1eHt 31fsia
T2

(A) 10

(B) 12

(D) 18



TARGET MATHS- 25/25

Ques-6:-The product of two consecutive odd number 1s 6399. What 1s the smaller
number?

a1 AT T AT 3h1 UM% 6399 & | DI H&AT TS ?

(A) 77

(B) 79

(C) 81

(D) 83




TARGET MATHS- 25/25

Ques-6:-The product of two consecutive odd number 1s 6399. What 1s the smaller
number?

a1 AT T AT 3h1 UM% 6399 & | DI H&AT TS ?

(A) 77

(B) 79

(D) 83



TARGET MATHS- 25/25

Ques-7:- By selling 50 metres of cloth, a person gains the cost price of 20 metres of
cloth. What is his gain percent?

50 HIeT HUST siwreht, Teh Afth 20 HieL S 3l AT Hed oh SIS AT ITH LT 2| S
AT TfaeTd =T 82

INYURZ
(B) 25 %
(C) 20 %
(D) 10 %




TARGET MATHS- 25/25

Ques-7:- By selling 50 metres of cloth, a person gains the cost price of 20 metres of
cloth. What is his gain percent?

50 HIeT HUST siwreht, Teh Afth 20 HieL S 3l AT Hed oh SIS AT ITH LT 2| S
AT TfaeTd =T 82

(B) 25 %
(C) 20 %
(D) 10 %



TARGET MATHS- 25/25

Ques-8:- A train moving at a rate of 36 km/hr crosses a standing man 1n 10 seconds.
It will cross a platform 55 metres long, in

Teh LTI 36 Tore/, <1 Tif & TTcteRt, Teh @S §U STtk ol TRt | 10 HeRUS ST &
TGTER, T8 55 HI TFeITE oh TIHH ohi TR T H fehe T §HI T2

(A) 7 sec

(B) 15.5 sec

(C) 5 sec

(D) 6 sec




TARGET MATHS- 25/25

Ques-8:- A train moving at a rate of 36 km/hr crosses a standing man 1n 10 seconds.
It will cross a platform 55 metres long, in

Teh LTI 36 Tore/, <1 Tif & TTcteRt, Teh @S §U STtk ol TRt | 10 HeRUS ST &
TGTER, T8 55 HI TFeITE oh TIHH ohi TR T H fehe T §HI T2
(A) 7 sec

(C) 5 sec
(D) 6 sec



TARGET MATHS- 25/25

Ques-9:- Milk and water are 1n the ratio of 3 : 2 1n a mixture of 80 litres. How much
water should be added so that the ratio of the milk and water becomes 2:3?

80 T oh THr210T H g4 ST AT T ST 3 : 2 2| Foher1 I+t ST et =i afrer gor
ST T T 31T 2 : 3 BT S

(A) 20 litres

(B) 25 litres

(C) 35 litres

(D) 40 litres




TARGET MATHS- 25/25

Ques-9:- Milk and water are 1n the ratio of 3 : 2 1n a mixture of 80 litres. How much
water should be added so that the ratio of the milk and water becomes 2:3?

80 T oh THr210T H g4 ST AT T ST 3 : 2 2| Foher1 I+t ST et =i afrer gor
ST T T 31T 2 : 3 BT S

(A) 20 litres

(B) 25 litres

(C) 35 litres




TARGET MATHS- 25/25

Ques-10:- An amount invested at simple interest gives Rs 2550 interest at rate of
17% per annum 1n 3 years. What is the principal (in Rs.)

T SATST 9T, faret bt 718 1fey 3 ot o ufer o 17% st e ® 2550 T4 1 s31ST <d] R
TOTY T § (% H)

(A) 4000

(B) 5000

(C) 6000

(D) 4500




TARGET MATHS- 25/25

Ques-10:- An amount invested at simple interest gives Rs 2550 interest at rate of
17% per annum 1n 3 years. What is the principal (in Rs.)

HTETOT SATST O Tt 3Rt 778 ST 3 et & i I 17% At STH 2550 T T A ot 2l
TOTY T § (% H)

(A) 4000

(C) 6000
(D) 4500



TARGET MATHS- 25/25

Ques-11:- If a number 1s divided by 30 then it leaves 17 as a remainder. What will
be the remainder when the same number 1s divided by 107?

e Teh E&AT <Rl 30 § faTiSTd fomam SITdT 8 o I 9%l o 9 | 17 TS hidT 8| S 367
ST Rl 10 9 ToraTford foram ST @ a SIv%et o=t g

(A)7

(B) 3

O 1

(D) 2




TARGET MATHS- 25/25

Ques-11:- If a number 1s divided by 30 then it leaves 17 as a remainder. What will

be the remainder when the same number 1s divided by 107?
ITe ek TAT ki 30 © ToryTiSTd fomam SITaT @ a1 I8 YISl o 9 | 17 S Hidl 2| S 39t
T Rl 10 9 TorTisd foram STTaT @ a1 SIS%et -7 BITTY

(B) 3
(C) 1
(D) 2



TARGET MATHS- 25/25

Ques-12:- What is the value of 162 + 172 + 182+ ....... 2527
162+ 172+ 182+ ....... 252 ohT HIF T &7

(A) 2325

(B) 2465

(C) 2105

(D) 2070



TARGET MATHS- 25/25

Ques-12:- What is the value of 162 + 172 + 182+ ....... 2527
162+ 172+ 182+ ....... 252 ohT HIF T &7

(A) 2325

(B) 2465

(C) 2105



TARGET MATHS- 25/25

Ques-13:- How many times digit 'S' appears in the numbers from 1 to 100?
1 T 100 dh ! T H foha-l SR 31 'S' 71T 82

(A) 20

(B) 21

(C) 19

(D) 18




TARGET MATHS- 25/25

Ques-13:- How many times digit 'S' appears in the numbers from 1 to 100?
1 T 100 dh ! T H foha-l SR 31 'S' 71T 82

(B) 21
(C) 19
(D) 18



TARGET MATHS- 25/25

Ques-14:- What is the unit digit of 5'** x 124°?
5124 x 124° W ST ohT 37k AT &2

(A)S
(B) 1
(©)0
(D)2



TARGET MATHS- 25/25

Ques-14:- What is the unit digit of 5'** x 124°?
5124 x 124° W ST ohT 37k AT &2

INE
(B) 1

(D)2



TARGET MATHS- 25/25

Ques-15:- Which of the following number is divisible by 11?

(A) 44433
(B) 45332
(C) 23581
(D) 59609

fafaRaa o st d=mr 11 3 s 22



TARGET MATHS- 25/25

Ques-15:- Which of the following number is divisible by 11?
fFeferRaa & & &I ot W& 11 9 {82

(A) 44433

(B) 45332

(C) 23581



TARGET MATHS- 25/25

Ques-16:- A can do a piece of work in 20 days and B can do the same piece of
work in 30 days. They start working together and work for 5 days and then both
leave the work. C alone finishes the remaining work in 14 days. In how many
days will C alone finish the whole work?

A, 20 T&T H Ueh ThTH &Y Tehdl & TR B 36T 1H i 30 foAT 7 X Tehat g1 A Th
TTY hTH HIHT ITE H 2 7R 5 &t aeh wm o § iR i sm sig 0 1 C
3R ITY T <Y 14 AT H U0 oAt g1 C 3rcher Tohae ToAT # OX1 1w Tred oht STTT?
(A) 24

(B) 18

(C) 36

(D) 42




TARGET MATHS- 25/25

Ques-17:-A can do a piece of work in 20 days and B can do the same piece of
work in 30 days. They start working together and work for 5 days and then both
leave the work. C alone finishes the remaining work in 14 days. In how many
days will C alone finish the whole work?

A, 20 T W Ueh &hTH &Y TehdT & 3T B 36T TH ki 30 faAT § o TehaT B 9 Ueh
TN hTH THTAT & e § 3 5 &1 7ok e ol & s i gt e sig 3@ 81 C
3R ITY T <Y 14 AT H U0 oAt g1 C 3rcher Tohae ToAT # OX1 1w Tred oht STTT?

(B) 18
(C) 36
(D) 42



TARGET MATHS- 25/25

Ques-18:- The length of two parallel sides of a trapezium are 30 cm and 40 cm. If
the area of the trapezium is 350 cm?, then what is the value (in cm) of its height?
U AHCTF T hi 31 THTHIAR ST sh oiaTg 30 AT 37X 40 | 31 9t

T TqHT T AAH 350 AHY? 7, A1 EhT HaAT3 T | (FHT T) FT 72

(A) 8

(B) 10

(C) 15

(D) 12



TARGET MATHS- 25/25

Ques-18:- The length of two parallel sides of a trapezium are 30 cm and 40 cm. If
the area of the trapezium is 350 cm?, then what is the value (in cm) of its height?

T AHET TS chl ST AHTATAY SIS hl oiaTg 30 THT 37X 40 Tt 31 afg
AR THH T AT 350 GH 3, T FHhT FalTg ol A (BHT H) FT 82

(A) 8

(C) 15
(D) 12



TARGET MATHS- 25/25

Ques-18:- If some articles are bought at Rs.10 each and sold at Rs.7 each, then
what is the loss percentage?

TS HD TEIST Tl Tdeh 10 TUA W TS ATAT § AR 7 TOA § ST AT 2,
TRATT TFA9Td T 32

(A) 60

(B) 16.67

(C) 25

D) 30




TARGET MATHS- 25/25

Ques-19:- If some articles are bought at Rs.10 each and sold at Rs.7 each, then
what is the loss percentage?

TS HD TEIST Tl Tdeh 10 TUA W TS ATAT § AR 7 TOA § ST AT 2,
TRATT TFA9Td T 32

(A) 60

(B) 16.67

(C) 25

D) 30
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